Question 1 If the matrices A and B are nonsingular then A + B is nonsingular. c
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The correct answer is: False
Question 2 1 1 0 17
Correct 1 5 0 0

For which value of z, will the matrix become singular?
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Question 3 If E, F'and G are n x n elementary matrices of type |, Il and lll respectively. If det(F) = 4 and
Correct det(A) = 3 then det(FEFGA} =

Mark 1.00 out

of 1.00 Select one:
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The correct answer is: -48
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Question 4
Correct

Mark 1.00 out
of 1.00

¥ Flag
question

a b c 2d 2e 2f
fld e f|=2,then| 3a 3b 3¢ | =
g h k g+5a h+5b k+5c

Select one:
-12 v
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-11
-7

The correct answer is: -12
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Question 5
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Select one:
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The correct answeris: 3
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Question & Choose the correct answers to solve the linear system Az = b using Cramer's rule where

Correct 1 1 0
Mark 5.00 out A= 1 0 1 3 and
of 5.00 01 1
v Flag 5
question b= |5
D
det(A) = 2+ v det(A;) = 5 + v det(A4y) = ¢t wdet(Az)=| 5 ¢# vx1= 25 ¢ v
Ty = | 25 s & ITyg=| 25 = ¥
Question 7 The AB is nonsingular then at least on of the matrices A and B is singular.
Incorrect
Mark 0.00 out Select one:
of 1.00
¥ Flag False
question True %

The correct answer is: False
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The correct answer is: False

Question 8 If Ais a2 x 2 matrix such that det(A) = 3, then det(2A*A™'A") =
Correct
Mark 1.00 out Select one:
of 1.00
¥ Flag 321
question 390
325
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The correct answer is: 324
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